

Travis County Commissioners Court Agenda Request

Meeting Date: September 17, 2013

Prepared By/Phone Number: Loren Breland, 854-4854 Elected/Appointed Official/Dept. Head: Cyd Grimes

Commissioners Court Sponsor: Judge Biscoe

Agenda Language: Approve contract award for 290 East Landfill Operations and Maintenance, IFB #B1304-012-LD, to the sole bidder, SCS Field Services.

➤ Purchasing Recommendation and Comments: Purchasing concurs with department and recommends approval of requested action. This procurement action meets the compliance requirements as outlined by the statutes.

This contract will provide operation and maintenance services at the closed 290 East Landfill for TNR.

One bid was received on August 19, 2013. TNR has reviewed the bid and recommends award to the sole bidder, SCS Field Services. SCS Field Services is the current contractor.

Contract-Related Information:

Award Amount: \$104,660.00 Contract Type: Annual Contract

Contract Period: September 22, 1013 – September 21, 2014

Solicitation-Related Information:

Solicitations Sent: 28	Responses Received: 1
HUB Information:	% HUB Subcontractor:

Fund	ing	Intor	mat	ion	:
		. 1		\sim	

	SAP Shopping Cart #:
	Funding Account(s): SAP cost center 1490250001
\boxtimes	Comments: Contract will be funded from FY14 budgeted funds.



TRANSPORTATION AND NATURAL RESOURCES STEVEN M. MANILLA, P.E., COUNTY EXECUTIVE

700 Lavaca, 5th Floor Travis County Administration Building P. O. Box 1748 Austin, Texas 78767 (512) 854-9383 FAX (512) 854-4697

August 23, 2013

MEMORANDUM

TO: Cvd G

Cyd Grimes, County Purchasing Agent

FROM: Steven M. Manilla, P.E., County Executive

SUBJECT: Contract Award Solicitation B1304-012-LD

290 East Landfill Operations and Maintenance

TNR recommends that Travis County award the above referenced contract to the only responsive bidder, SCS Field Services.

If approved, this contract will not become effective until September 21, 2013. This contract will be funded by FY14 funds.

The product category for this contract is 81101501. The budgeted cost center is 1490250001.

If you need additional information, please contact Christina Jensen at 854-7670.

CJ:SMM:cj Contract File Travis County Bid B1304-012-LD

Bid #B1304-012-LD - 290 EAST LANDFILL OPERATION & MAINTENANCE

Start Date Jul 30, 2013 3:03:14 PM CDT Awarded Date Not Yet Awarded

B1304-012-LD01-01 Section A - So (EHS) Plan	cheduled Operation ar	nd Maintenance: Ei	nvironmental, Hea	lth, and	Safety
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SCS Field Services [Ad]	First Offer - \$300.00	1 / each	\$300.00		Υ
Product Code: Unit Amount Text: Three hundred dollars Total Amount Text: Three hundred dollars Agency Notes:	5	Supplier Product Supplier Notes:	Code:		

B1304-012-LD01-02 Section A - Scheduled Operation and Maintenance: Leachate collection system operation, monthly							
Supplier Unit Price Qty/Unit Total Price Attch. Do							
SCS Field Services [Ad]	First Offer - \$2,950.00	12 / each	\$35,400.00		Y		
Product Code: Unit Amount Text: Two thousand nine he Total Amount Text: Thirty five thousand Agency Notes:	undred fifty dollars	Supplier Product Supplier Notes:	Code:				

B1304-012-LD01-03 Section A - Scheduled Operation and Maintenance: Leachate sampling, Laboratory/analysis, and Reporting								
Supplier Unit Price Qty/Unit Total Price Attch. Do								
SCS Field Services [Ad]	First Offer - \$1,400.00	2 / each	\$2,800.00		Υ			
Product Code: Unit Amount Text: One thousand four hu Total Amount Text: Two thousand eight Agency Notes:	undred dollars	Supplier Product Supplier Notes:	Code:					

B1304-012-LD01-04 Section A - Scheduled Operation and Maintenance: Collection system pipeline valves inspection, annual							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SCS Field Services [Ad]	First Offer - \$200.00	1 / each	\$200.00		Y		
Product Code: Unit Amount Text: Two hundred dollars Total Amount Text: Two hundred dollars Agency Notes:		Supplier Product (Supplier Notes:	Code:				

B1304-012-LD01-05 Section A - Scheduled Operation and Maintenance: Tank high level float alarm/telemetry test, annual							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SCS Field Services [Ad]	First Offer - \$200.00	1 / each	\$200.00		Y		
Product Code: Unit Amount Text: Two hundred dollars Total Amount Text: Two hundred dollars Agency Notes:		Supplier Product C Supplier Notes:	code:				

B1304-012-LD01-06 Section A - So surface and vegetation, monthly.	cheduled Operation ar	nd Maintenance: I	nspect roads, fenci	ng, gate	s,
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SCS Field Services [Ad]	First Offer - \$350.00	12 / each	\$4,200.00		Υ
Product Code: Unit Amount Text: Three hundred fifty d		Supplier Product Supplier Notes:	Code:	,	

Travis County Bid B1304-012-LD

Total Amount Text: Four thousand two hundred dollars
Agency Notes:

B1304-012-LD01-07 Section A - Scheduled Operation and Maintenance: Access road asphalt							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SCS Field Services [Ad]	First Offer - \$178.00	120 / ton	\$21,360.00		Y		
Product Code:		Supplier Product Code:					
Unit Amount Text: One hundred seventy	eight dollars	Supplier Notes:					
Total Amount Text: Twenty one thousan	d three hundred sixty						
dollars							
Agency Notes:							

B1304-012-LD01-08 Section A - Scheduled Operation and Maintenance: Access road edges herbicide (Round up), annual							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SCS Field Services [Ad]	First Offer - \$0.25	5000 / linear foot	\$1,250.00		Y		
Product Code: Unit Amount Text: Twenty five hundredth Total Amount Text: One thousand two hu Agency Notes:	ns dollar	Supplier Product Co Supplier Notes:	ode:				

B1304-012-LD01-09 Section A - Scheduled Operation and Maintenance: Access road emulsified asphalt (AEP)							
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs		
SCS Field Services [Ad]	First Offer - \$1.50	6500 / gallon	\$9,750.00		Υ		
Product Code: Unit Amount Text: One and fifty hundred Total Amount Text: Nine thousand seven Agency Notes:	ths dollars	Supplier Product Supplier Notes:	Code:				

B1304-012-LD01-10 Section A - Scheduled Operation and Maintenance: Mowing, two times per year						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SCS Field Services [Ad]	First Offer - \$5,900.00	2 / each	\$11,800.00		Υ	
Product Code: Unit Amount Text: Five thousand nine hu Total Amount Text: Eleven thousand eigl Agency Notes:	Supplier Product Supplier Notes:	t Code:				

B1304-012-LD01-11 Section A - Scheduled Operation and Maintenance: Herbicide (Round up) control of giant cane						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SCS Field Services [Ad]	First Offer - \$0.25	3500 / square yard	\$875.00		Υ	
		Supplier Product Cod Supplier Notes:	e:			

B1304-012-LD02-01 Section B - Unscheduled Maintenance and Repairs: Refurbish well						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SCS Field Services [Ad]	First Offer - \$875.00	6 / each	\$5,250.00		Y	
Product Code: Unit Amount Text: Eight hundred sevety Total Amount Text: Five thousand two h Agency Notes:	Supplier Product Supplier Notes:	Code:				

B1304-012-LD02-02 Section B - Unscheduled Maintenance and Repairs: Refurbish submersible pump					
Supplier Unit Price Qty/Unit Total Price Attch. Doc					Docs

Travis County Bid B1304-012-LD

SCS Field Services [Ad]	First Offer - \$775.00	6 / each	\$4,650.00	Y
		Supplier Product	Code:	
Unit Amount Text: Seven hundred se Total Amount Text: Four thousand si	Supplier Notes:			
Agency Notes:				

B1304-012-LD02-03 Section B - Unscheduled Maintenance and Repairs: Install new submersible well pump						
Supplier	Unit Pri	ce Qty/Unit	Total Price	Attch.	Docs	
SCS Field Services [Ad]	First Offer - \$1,550.0	00 2 / each	\$3,100.00		Y	
		Supplier Produ Supplier Notes				

B1304-012-LD02-04 Section B - Unscheduled Maintenance and Repairs: Install new leachate tank pump						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SCS Field Services [Ad]	First Offer - \$3,250.00	1 / each	\$3,250.00		Υ	
		Supplier Product Supplier Notes:	: Code:			

B1304-012-LD03-01 Section C - Labor and Parts: Labor- Regular Time Hourly Cost						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SCS Field Services [Ad]	First Offer - \$120.00	1 / hour	\$120.00		Υ	
Product Code: Unit Amount Text: One hundred twenty dollars Total Amount Text: One hundred twenty dollars Agency Notes:		Supplier Product Supplier Notes:	Code:			

B1304-012-LD03-02 Section C - Labor and Parts: Labor- Emergency Time Hourly Cost						
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs	
SCS Field Services [Ad]	First Offer - \$155.00	1 / hour	\$155.00		Υ	
Product Code: Unit Amount Text: One hundred fifty five dollars Total Amount Text: One hundred fifty five dollars Agency Notes:		Supplier Product Supplier Notes:	Code:			

B1304-012-LD03-03 Section C - Labor and Parts: Repair/replacement Part cost percentage					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
SCS Field Services [Ad]	First Offer - 7.00%	1 / percentage	7.00%		Υ
Product Code: Agency Notes: Supplier Product Code: Supplier Notes:					

Supplier Totals

SCS Field Services [Ad]	\$104,660.00 (18/18 items)
Bid Contact Ron Wilks rfusilier@scsfieldservices.com Ph 817-358-6104	Address 1901 Central Drive, Suite 550 Bedford, TX 76021
Agency Notes:	Supplier Notes:

**